HEER A - PR /NER

AER:SHTE8ATH

&2 AEBH A=
Tm 50cm Ocm

1 EIEXCHIE FAES 0.086 0.070 0.072
2 YR K E 0.072 0.068 0.084
3 BEREMKTR 0.076 0.058 0.064
4 BYBTHRKTX 0.068 0.080 0.088
5 BRERKEA 0.084 0.078 0.078
6 |BREFRLREIO 0.080 0.082 0.092
7 REPRAKTR 0.088 0.084 0.068
8 |BREFRLEHO 0.090 0.086 0.082
9 REFAIMKTR 0.094 0.086 0.082
10 |REZBMRKTR 0.092 0.086 0.094
11 |ABEERRATRD 0.086 0.094 0.104
12 |ABEERRATRQ 0.088 0.088 0.088
13 |[MREBERILV-FU) 0.090 0.088 0.104
14 |BERRKTR 0.092 0.086 0.102

=XE 0.094 0.094 0.104

=/ME 0.068 0.058 0.064

FHiE 0.085 0.081 0.086




